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ABPC TUEV)Y 50% 0% 42%  13% 1% 0% 1% 0% 57% 0% 25% 0% *ok 0% 0% 0% sk 0% 0% 0% 0% 39% 100%  80% 0%  100% 100% 100% 100% 100% 100% 100% 75%  46% 0% 40%  53%  81%  kkx 7%  100% 100% 67% 100%  50%
ACV FTEXRIII/IFTSUH sk okkk kkk ok klk klk kilok Rkk Rkk kokk kb 0% sk sbolok 0% sk spolok 0% sk cklok cklk 77%  100%  100%  100%  klk ek 100%  100%  100% 100% 100% 100% 100% = 0% 79%  52%  88% kb 86% 100% 100% 100% 100% 100%
AMPC TEXIIY Fofok 0% 54% 0% 0% 0% 4% 0% 67% 0% 0% 0% 0% Fokok 0% 0% 0% 0% 0% 0% 0% 34% 100% 91% 0% sk 100% 100% 100% 100% 100% 100% 100%  53% 0% 61%  72%  74%  ckkk ckwk sklok dekk okkk ckiok sbiok
ASPC FAREFIIYY sokk ckik skl kb skkk ckk skilek selk skl ckk skiek selk skl ckk skiok selk skl sklk ckik sklk skekk sklk ckiek sklok skekk skkk Rk sklok slekk skl ckiok sklok ek 0% 0% sokk ckkk skiok dekk skl ckkk skiok ekk skl kR
REDYUT MPIPC FxHy ook ook ook ook Aok Kokok Kook Kokok Kook Kook Kook Kook Kook Kook Kook Kook Kook Kook Kook Kook Kook Kook Kook Kook Kook Kook Kook Kook ook ook ook ook ook 100% 0% 49% ook 0% ook ook ook ook ook Kook Kook
PCG NUDIRZVY Y kRl ekl okkk skl Rk skl kb okl Rk skl kb okl cRiok sklek kb okl Rk sklok kb okl ckiok sklek kb okl Rk klk 94%  100%  100%  100%  100%  97% @ ckwk ok 0% 54%  50% @ kkk 7% | 100% 100% 67% 100%  50%
PIPC EXSIYY 100% = 36%  48% 100% 74% 72% 68% 86% 56% 100% 68% 71% 50% 50%  96%  50% 0% 74%  80% 100% 18%  82% 100% 100% 75% %k  100% = 33% = kkx  100% 100% kkk  100% | 0% 0% 33% 8% 53% wkx  71% 100% 100% 100% 100% 100%
SBTPC RILAZI) Y Rk kkk 80%  kkk 100%  kkk 67% 0% 50%  kkk kkk Rk sklek kkk okl kkok skkok 0% dkk  ckkk klk | 30%  67%  83%  100%  kkk  kkx  57%  100% 100% 100% 100% 57% 100% = 0% 25% | 63%  67%  ckkk  ckwk skl ekk okkk Rk skkok
T/P BINGRL/ERSV Y 100% 57%  95% 100% 76% 100% 94% 100% 100% 100% 90%  83% *+k  50% 100% 100% 0% 79%  78% 100% = 40%  93% 100% 100% 100%  k#k  skk | 20% @ kR 100% 100%  kkk  80%  100% = 0% 29%  20% 61% kek  93%  100% 100% 100% 100% 100%
S/A RIINGBL/TUED) Y 100% 44% 66%  63%  27% 100% 77%  42% 88% 100% = 39% 7% 0% 50% 100% 100% 0% 0% 67% 100% = 0% 66% 100% 96% 100% 100% 100% 98% 100% 100% 100% 100% 91% 100% 0% 50%  58%  74%  okkk  ckwk  kkk kb kkk okkk bk
CAZ EIETT L 100% 45% 87% 100% 83% 100% 85% 85% 100% 100% 83%  93% kk  100% 96% 100% = 0% 89%  90% 100% 50% 91% 100% 50% 100% 100% 100% = 38% = 33% 95% = 10% 100%  38%  96% 0% 52% 0% 0% dolk  ckrok sklok dolk okkk ckok splok
CCL +o77/8)L Bk wkk B7%  kkk kkk bk 0% 0% 0% ok dokk 0% sk ko 0% Rk ok 0% 0% Rk Rk 41%  100% 100%  96%  100% 100% 70%  100% 100% 50% 100% 77% 100% = 0% 50%  53% 0% Rk Rk sklok okk okkk Rk skkok
CDTR TITLY ERFUIL drk  omlok 71%  kekk 100%  wlek 70%  67%  50% ek 0% 0% ok ok 0% ok ok 0% 0% ek Rk 08%  100%  96%  97% 100% 100% 100% 100% 100% 95%  100% 85% 100% 0% 65%  44% 0% Bk ook sklok el okekk Rk sklok
CDzZMm 2IAOT L Fokok Fokok 67% skk  100%  kkk 100%  kkk Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok 0% 0% 0% Fokok Fokok Fokok Fokok Fokok Fokok Fokok
CETB +wIFIFY sk ik 100%  kekk oklk okkk skiok cklk 100%  kekk 100%  kiek  cklek skkk kekk okkk ok 0% sk ckkk sklok | 25% | kkk sk 0% s,kk Rk 0% 0% ook 0% sokk  ckkk kkk ok 0% 0% sokk ckkk okl dkekk skkk ckiok sklok ok
CEX wI7LFIY 0% 0% 93% 100% 0% 0% 63% HFokk 50% Fokk Fokk 0% Fokk Fkk 0% Fdk Fodok 0% Fdk Fkk 0% 14% 100% Fokk 100% Fokk 100% 0% Fokk Fokk 0% Fokk 0% 100% 0% 0% 46% 0% Fokk Fokk Hokk Hokk Hokk Hokk Hokk
CEZ wI7JYY 0% 45%  66% = 22% 0% 72%  75% 0% 68% 0% 6% 0% 0% 0% 0% 0% 0% 0% 0% 0% 0% 47% 100% 75%  41% 100% 100% 92% 100% 100% 63% 100% 88% 100% 0% 49% | 36% 0% dkk Rk ko dekk okkk ckk slok
CFDN 2Io=)L 100% = 80%  71%  75% « 21%  75%  76% 0% 64%  wkx  60% 0% | 100% sk 0% Fokok 0% 0% 0% Fokok 0% 43% 100% 96%  99% 100% 100% 98% 100% 100% 60% 100% 88% 100% | O% 61%  56% 0% sk ckiok ok delk skelk ckiok splok
CFIX L PEFN Fokok sk 100% Rk 100%  kekk 100% Rk Fokok Fokok Fokok Fokok Fokok Fokok 0% Fokok Fokok 0% Fokok Fokok Fokok 84% *kk  100% 100%  Hkkk Fokok Fokok Fokok Fokok 7% 100% 0% 0% 0% 0% 1% 0% Fokok Fokok sokok Fokok sokok Fokok Fokok
CFPM tIzE L %k 46%  74%  100% 100% 100% 90%  100%  64%  wkk  100% 100%  kwk  kkk  100%  100%  kwk  97%  kkx  kkk 50%  97%  100% 90%  99% 100% 100% 98% 100% 100% 97% 100% 96% 100% = 0% 49%  51% 0% Rk ckkk sklok dokk okl Rk skkok
CFPN wIARY 75%  44%  66%  75%  77% 93%  74%  82% 56% 80%  68%  45%  skkek 0% 0% 0% 0% 0% 0% 0% 0% 59% 100% 96% 100% 100% 88%  99% 100% 98%  92% 100% 94%  88% 0% 54%  57% 0% *kk | 21% | 100% 67%  100% 100%  50%
CFTM € ITFSLERFIIL ok ckik 100%  kekk okl ckik sklok kb okkk Rk oklek kb okkk kkk 0% fk bk 0% ok ckik klek 100% okl 100%  64%  kekk okkk ckkk klek ek 93%  100%  100%  50% 0% fkk 80%  klk kb okkk ckkk klok kb kkk kkk
BITLR CMX L P VESIIN Fokok Fokok sokok Fokok ok 100%  kkok Fokok sokok sokok sk 100%  kkok Fokok 0% Fokok Fokok 33% Fokok sk 100%  100% k% 100%  100%  skkok dokok  100%  kkx *kk  100% 100% 100%  100% 0% 100%  70% 0% Fokok Fokok Fokok Fokok Fokok sokok Fokok
CMz TIARJ-)L 0% 59%  98% | 13% 0%  100% 88%  93% 100% 100% 100% 84%  *xk 0% 0% 0% 0% 0% 0% 0% 0% 22%  67%  kkx 100% kwk  100% | 0% Fxk 100%  50%  kkx | 20% | 100% 0% 46% | 25% 0% *kk  79%  100% 100% 100% 100% 100%
CPDX tIRRFS LTAFEFIL 67% 44% 71% 50% 80% 100% 73%  50% < 62%  75%  82%  54%  swkk 0% 0% 0% 0% 0% 0% 0% 0% 62% 100% 100% 100% 100% 100% 98% 100% 100% 63% 100% 87%  83% 0% 73% = 35% 0% sk Rk ko dekk kkk Rk sbkok
CPR tIEAL fkk kxk 63%  kkk kkx 100%  100%  100% 0% dkk  okkk 100%  kkk kkk 100%  100%  kkk 87%  xkk  100% kkk  100% 100%  kkk  kkk kkk kkk 100%  100%  100%  67%  100%  kkx  100% 0% 75% 0% 0% dkk  kkk Rk klk okkk kkk kkok
CPZ wIFRTIY 100% = 0% 59%  100%  50% 0% 69%  kkx  B67%  kek  50%  100%  wkk  ekk 100%  cklek  kkk 71% ek kekk 100%  91%  100%  wkk  100%  kkk  kwek 100%  kkk 100%  67%  kek 100%  100% | 0% 0% 13% 0% sk ckrok sklok dolk okkk skok splok
CTM tIFFT L 100% = 0%  100% 100% = 25% 0% 58%  wkk  50% Rk kik  50%  kkk kkk 0% Fkkfokk 0% Rk fokk 0% 36% 100% 91% 99% 100% 100% 58% 67% 95%  64% 100% 68% 100% 0% 25% | 45% 0% ok Rk sklok dokk okl Rk skkok
CTRX wINITERIY 100% 47% 74% 100% 84% 89% 80% 93% 71% 100% 100% 87% 100% = 0% 73%  50% 0% 29%  70% 100% = 0%  100% 100% 100% 99% 100% 100% 99% 100% 100% 95% 100% 93%  96% 0% 57%  41% 0% sk | 20%  100% 100% 100% 100% 100%
CTX I XL fk  67%  57%  100% 100%  kek  50%  kkk  kkk 100%  100%  100% Rk kkk 100%  kkk kkk | 20% | 100% kR 0% 99% 100% 100% 100% 100% 100% 99% 100% 100% 98% 100% 93% 100% 0% 43%  43% 0% sk | 36%  100% 100% 100% 100% 100%
CXD +onx4oy sokk dokk 0% sokk ckkk skiok dekk skl ckkk skilok dekk skl ckkk skiok el skkk Rk skiok el okl cklk skiok ekl okl cklk skiok dekk skl ckkk skiok skekk okl skl skiek skekek 100%  ckkk skiok skekk okl ckkk skiok skkk okl ok
CXM R JsEDFN sokk ckkk sklok delk skl cklk skiok ekl skl skl skiok selk skkk cklk skiek selk sk cklk skiek sklk skekk 50%  cklek sklek skekk 100%  cklek 100%  100% kel 100%  kelk kel skkk o ckiek skelek 100%  ckkk ckiek sklok skekk skl ckiok klok ek
CzoP wI+JT5 100% = 33%  73%  kxk  100% 100% 91%  67%  67%  wkk  67% 100% 100% kkk  100% ke 0% 84%  100% 100% | 0% 29% 100% 100% 100%  ##k sk«  100% 100% 100% 59% 100% 71%  97% 0% 40%  42% 0% sk ckik klok dekk kkk ok sbkok
CZX wIFIVXV LA dkk ckkk klok kb okl Rk kb kb okl ckiok ckiek kb okl Rk 100% kb okl ckk ckiek kb kkk 94%  ckiek ekl 100% Rk kiek kb kkk kkk 8% fkk 100%  kkk ek 0% | 100%  ekk  okkk ckik klok kb okkk ckik ok
FMOX JO0EXED 100% 100% 98%  63% = 37% 100% 93% 92% 100% 100% 100% 86% 100% 0% 0% 0% 0% 0% 0% 0% 0% 32% 100% 84% 100% 100% 100% 60% 83% 100% 65% 100% 91% 100% 0% 50%  41% 0% sk 86%  100% 100% 100% 100% 100%
S/C RIINGBL/ 2 TARTTY 100% 52% 96% 100% 95% 100% 99% 93% 100% 100% 95% 90% 100% 100% 100% 100% 0% 84%  80% 100% 100% 93% 100% 100% 100% *%k  *kk  75% k%  100% 50%  *kx  100% 100% 0% 40%  25% 0% *kk  93%  100% 100% 100% 100% 100%
AZM TFORARAL Y sk ckkk ckiok dekk okl cklk skiok kb skl cklk skiok elk skl ckk skiek kb skl skl skiek ek skekx 100%  100%  100%  99%  100% 100%  51%  67% @ 41% 5% 54%  45%  67% 9% 49% | 24% 0% | 100%  okk ek ckkk Rk delok ek
CAM 93274 dkk ckkk klok kb okkk ckiok skl kb okkk ckiok sklok kb okkk Rk skl kb okkk Rk klk kb okl 75%  100%  54% 0% 100% 100% 50% 67% = 37% 8% 62%  58%  72%  11%  55% = 27% 0% 80%  wkk okl ckkk Rk kkk bk
<HOSARR EM TYRATAIY sk ckkk skiok dekk skl ckkk skiok ekl okkk ckkk skiok dekk skkk skl skiek ek skkk Rk skiok ek skl ckkk skiek ek skl ckkk skiek 50%  71% | 33% 7% 63%  55%  68% 9% 53%  22% 11% 100% 7%  100% = 0% 0%  100%  50%
JM DEL & sekk sk skiok delk skl cklk skiok delk skl cklk skiok delk skl cklk skiok ekl skl cklk skiok sklk skkk cklk skiok sklek skl skl skiek kb skkk skkk skiek kkk skl kR 0% ook 0% sokk ckk skl dekk skkk Rk klok ok
RKM [mE = OV sk Rk ckilok kb bk Rk skiek kb skl ckk skiok kb skl ckk skiok kb skl ckk skiok delk skl cklk sRiek kb skkk cklk ckiek el skkk kx| 14% 0 100%  100%  100%  100%  100% = 0% sokk 100%  klek dekk okkk Rk klok ek
RXM O 2O0%/Y Fokok Hokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok dkk  100%  kkk Fokok 0% 100% k¥ 63% 0% 50% 50% Fokok Fokok Fokok Fokok Hokok Fokok Fokok Fokok
DOXY FExog49)y Fokok Fokok Fokok Fokok Fokok Fokok 0% Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok Fokok ook *okk 100% 100% sk 100%  okok *okk 0% *okk *okk 0% *okk 67% 100% = 11%  100%  55% 63% *okk Kook Fokok Fokok Fokok Fokok Fokok
TESHAUUFR MINO /YAy 80%  94% 93% 89%  96% 100% 81% | 21% 2%  100% | 5% 91%  50% 100% 100% 100% 100% | 33% 100% 100% 100% 100% 100% 89% 100% 100% 100% 47%  78% 45% 28% 76% 65% 100% 64% 93% 97% 43% 80% 86% 100% 100% 100% 100% 100%
TC ThSHA9IY Hokok sk 100%  kkok Hokok Fokk Fokk Hokok 0% Hokok Fokk 50% Hokok skok  100% Rk Fokok 0% Hokok Fokok skok  100% Rk sk 100% Rk Fokok 33% Hokok Hokok 0% 100% ¥k Fokok 0% 100%  100% 0% Fokok Hokok Hokok Hokok Hokok Fokok Fokok
ABK TILAAT Y kkk krk 100%  kkk 100%  kek 100%  100% 0% kol ckik 100%  kekk okkk Rk sklek kb 100% Rk skl kb okkk ckiok sklek kb okkk o cRiok kb kb okkk Rk klk ekk 100%  98%  100%  kekk 0% ok ckik ko kb okkk Rk bkok
AMK TIhy 100% 93%  99% 100% 100% 100% 99% 100% 98% 100% 100% 89%  sokk 0%  100% 100% = 0% 99%  90%  100% | 29% @ ckrek  wlok  delk sklk cpdok delk delk sklk spdok dlk dekk sklk 100%  89%  100% ke 0% dolk  ckrok splok dolk okkk skiok splok
FIIHYALRR DKB ORALY *kk 100%  71%  100%  100%  *+x  100% 100%  50% sk 100%  75% Fokok sk 100%  kkk sk 100%  kkk Hokok Fokok Fokok Fokok Fokok sokok sokok Fokok Fokok Fokok Fokok Fokk Fokk ook 44% 18% 40% Fokok 0% Fokok Fokok Fokok Hokok Fokok Fokok Fokok
GM FoRIALY 100% 100% 89%  100% 100%  90% 93% 85% 85% 100% 83%  100%  **x 50% 100% 100% 0% 96% 80%  100% | 27% Fokok Fokok Hokok Hokok Hokok Hokok Fokk Fokk Fokok Fokk Hokok Fokok 73% 26% 57% Hokok 0% Hokok Hokok Hokok Hokok Hokok Fokk Fokk
ISP EEASE 2% 100% 100% 96% 100% 100% 100% 100% 100% 72% 100% 100% 88% 100% sk  100% 0% 0% 94%  100% 100% = 17% @ %k wbk  okkk ckkk kkk o kkk okkk kkk Rk klok okkk kkk 85% 52% 94%  wkk 0% dkk  kkk Rk klk okkk kkk kkok
TOB rNIS=ATY 100% 62%  92% 100% 100% 100% 91% %k  100%  sekk  skokk  100% ik sekk 83%  ckkk sklk 98%  kkk sk 0% sokk ckkk klok dekk skl Rk sklok dekk skl Rk sklk ek 80% | 17% | 65%  kekx 0% sokk ckkk klok dekk kkk ckkk skiok
a3 L7z=3-)L% CP 905 L7x=3-)L 67% 58% 86% 75% 100% 100% 73% 63% 68%  75%  58% | 40% kxk  50% 0% 0% Fokok 2% 63%  100%  71%  ckkk kwek selek sekk skkk 100%  100%  kekk skl 57%  selek ek 97%  89%  94%  100%  89%  k%k  100% 100% 100% 100% 100% 100%
BIPM E7RRL dkk  cklk 100%  kekk kekk 100%  100%  kekk 50%  kwek 100%  100%  ckkk ckdek selk delk skekk 100%  kelk dekk 0% 75% 100% 100% 100% 100% 100%  ek*  skk  100% 50% ek  kk  100% 0% 33%  50% 0% Bk ik sklok dolk okekk Rk sklok
DRPM FURRL 100% 100% 100% %k  100% 100% 100% 100% 100% sk  100% 100% ik  solk  100%  kkk  100% 100%  sokx ok 0%  100% 100% 100% 100% 100% 100% 100% 100% 100% 55% 100% 100% 100% 0% 38% | 79%  54%  ckkk ckwek el delk skekk ckiok siok
FILINRR LT IPM AIRRL/DFZREFY 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 0% 75% 100% 100% 0% | 100% 100% 100% 100% 100% 100% 100% 100% 100% 91% 100% 90% 100% = 0% 50% 63% 78% 100% 93% 100% 100% 100% 100% 100%
MEPM AORR L 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% s+ 100% 100% 100% 50%  88% 100% 100% = 0% 99% 100% 100% 100% 100% 100% 100% 100% 100% 92% 100% 100% 100% 0% 58%  57%  42%  kxkx  93% 100% 100% 100% 100% 100%
PAPM ISZRRL/AREITOY 100% 100% 100% 100% 100% 100% 100% 100% 100% ik  100% 100% sk 0% | 100% ok  kkx  45%  100% ek 0%  100% 100% 100% 100% %k 100% 100% 100% 100% 100% 100% 100% 100% 0% 50%  67%  82%  ckkk  ckik  elk delk okekk ckkok skdok
TBPM TFERRL kR Rk 100%  kkk ckkk Rk 100%  100%  100% Rk ekek kb okkk ckik 100%  kekk okl 50%  kkek kb okl 100%  100%  100%  100%  ckwk  kkek 100%  okkk ckkk 100%  kkk 100%  100% 0% | 100% 100% = 0% dkk ckik klok kb okkk Rk bkok
oA T CLDM LOVZ =& O sokk ckkk skilok dekk okl ckkk skiok ekl ok ckkk skiok skkk okl skl skiok sekk okl cklk skiok sklk okl skl ckiok skkk ek kkk ckiek 63%  67%  52% | 32%  81%  81%  96% | 34%  74% | 23% 0% *kk  57%  100% 67%  67% 100%  75%
LCM yravAvy sk sk skl dekk skl ckk skik dekk skl ckk skl sekk skl Rk sklok dlekk skl Rk sklok sekk skl ckik sklok slekk skl Rk sklek 50%  ckkk ckiek skilok ek 0% ook 0% 0% 0% 0% sk ckkk skiok dekk kkk ckkk sbiok
CPFX v7nooxyiy 75%  45%  53% 100% 88%  94% 84% 83% 59% 100% 42% 58% 100% = 0% 86% 100% = 0% 74%  78% 100% | 33% 91% 100% 71% 100% 100% 75% | 13% @ 100% 62% 84% 50% | 40% 87%  13%  48% | 24%  38% @ 60% ckkx  ckkk  ckiok el ek ek
GFLX AFoaxH Y dekk Rk klok kb okl cklk ckilok kb okl cklk ckilek 100% okl ckik ckiek delk okl cklk ckiek delk ke 100% Rk ekl kb sklk cRiek skl kb skl Rk el kb skl Rk 100%  100%  ckkk ckiek skl kb okkk ckiok klok bk
GRNX ALx/390 ok 60%  70%  100% 100% 100% 63%  75%  75%  kkk  100% 100%  kkk  kkk 100%  100% 100%  63%  kkk  wkk 100%  94%  100%  73%  100% kx  100% 100% 100% 100% 100% 100% 100% 100% 50%  94% | 29% @ 78%  ckkk  ckiek  ckkk kkk dekk okkk kkok
LFLX o zox4oy sokk ckkk 100%  kekk skkk cklk skiok dekk skkk ckk skl dlekk skl Rk sklek sekk skkk 100%  klek skekk skl 100%  klek ek 0% sk ckkk cklok klk ok 0% ook 0% 75% 100% 100% | 0% sokk ckkk sklok dekk kkk Rk klok ek
LVFX LR7ax4oy 75%  54%  52% 100% 100% 100% 81% 86% 63% 100% 68% 89% kwk  50% 86% 100% 50%  69% 67% 100% 94%  92% 100% 81% 100% 100% 75% | 27% 100% 59%  94%  96% 65% 91% = 19% 49% = 30% 58% 60% 43% 100% 100% 33% 100%  75%
—a—%/OVE MFLX EXLOOXHYIY 100%  ekk  44%  100% ek 100%  80%  100% ek elk  skekk  75%  sklek  delk 100%  ckkk cklek 73%  100%  kkk 100%  100%  kekk  50%  100%  elek  sdekk 0% *kk 100%  71% 0% Rk T1% 0% 83%  17% 0% sk ok sklok delk slelk sk splok
NFLX /Loaxyoy il Hdok 40% *dok 100% il 64% *dok 40% *dok 100% 100% *dok *dok 50% *dok *dok 85% *dok *dok *dok 97% 100% *dok 100% *dok *dok 14% *dok 100% 86% 100% 50% 100% 17% 67% 44% 60% 60% *dok *dok *dok *dok *dok *dok
OFLX Aonxyy 100% = 22%  59% 100% 100% 100% 90%  50% 100% sk | 25%  100% ik sokk | 25%  kkk  kik  78%  100%  kkk  67%  95%  100%  75% @ 91%  wkk  kekxk 6% | 100% 53%  95%  86% 100% 89% « 30%  58% | 27% @ 60%  ckwk  kkk  kekk kkk ckiok skl ok
PUFX Fyoaxygiy Fkk Fkk 0% Fkk Fkk 100%  100% Fkk 50% Fkk 100%  100% Fkk Fkk 0% Fdk Fkk 100% Fkk Fkk 100%  100% Fkk Fkk 100% Fkk Fkk 67% Fkk Fkk 100%  100% Fkk 86% 33% 57% 17% 100% Fkk Fkk Fkk Fkk Fkk Fkk Fkk
PZFX AV .=k 100% 67% 56% 100% 100% 100% 85% 100% 62%  skk 100% 100% 100% sk  100% 100% 100%  73% bk  wk  83%  82% 100% 78% 100% 100% 67% | 16% 100% 82%  78%  wxk  67% 94% = 16%  35%  32%  51%  60%  ckwk  skik  selk skkk ckik siok
STFX DT winE, DA sokok dkk  100% Rk sk 100%  100%  100%  100%  skkk  100%  skkok Fokok Fokok Fokok Fokok sokok 80% sokok sokok sk 100%  100%  kkk 100%  kkk dokok  100%  kkx Fokok Fokok *kk  100% 100% | 25% Fokok 0% 0% Fokok Fokok Fokok sokok sokok sokok Fokok
TFLX rRoaxHw skx | 25%  60% 100% 83% 100% 80% « 33%  13%  kwk  67%  67%  50%  ckwk  67%  100%  kkx  85%  kik ek 100% 87%  100% 50%  100% 100%  50% 8%  100% 88%  96% 80% 75%  91%  21%  65% | 18% @ 41%  60%  wkk  kekk  ckkk kiok kkk ok
AZT TR A F L 100%  47% 87% 100% 73%  100%  85% 90% 88%  100%  94% 97% Fokok 0% 54% 50% 0% 79% 60%  100% 0% 100% 100% 100% 100% 100% 100% ¥ Fokok Fokok Fokok Fokok Hokok Hokok Hokok Hokok Hokok Hokok Hokok Fokok Fokk Fokok Fokok Fokok Fokok
FOM RARTAI Y 100% 100% 99% 100% 100% 88% 86% 43% 63% 100% = 29% 93% 100% 0% 23% 100% = 0% 75%  70%  50%  83% 0% 0% Fokk 0% Fokk 0% 0% Fokk 0% 0% Fokk 0% 98%  70%  58% 0% 80% | 20% | okkk  okkk  ckik kkk bk kokk
FRPM T7ARRL 100% 64% 92% 60% 55% 100% 84%  50%  42% 100% 100% | 3% Fofok 0% 0% 0% 0% 0% 0% 0% 0% 57% 100% 95%  100% 100% 100% 100% %k %k  100% *kx  100% 100% = 0% 20%  53%  46% @ ckkk  ckik sklok dekk okl ckiok slok
ZOHDIMEYE LzZD DESYUIN sokk ckik skl kb skkk ckk skiek selk skl ckk skiek selk skl cklk skiek ekl sk cklk skiek skl skekk skl skik sklek skekk skl sk 100%  kkk skkk 100%  wekk 100%  100%  100%  100%  100%  100%  ckdek  selek skekk skkk ckiek sklok ek
ST ZTFANESI-IL/M)ANT YL 100%  79%  73%  100% 100% 90%  81%  91%  73% 100% 89% 100% kk  100% 100% 100% sk | 14%  88%  100% 100% 100% 100% kx| 40% @ kx sk 100% bk sekk  50%  kekk | 40%  97%  99%  91%  79% 0% sk ki klok dekk kkk sk slok
TEIC FAATS5=y dkkk ckik Rkl kb okkk Rk oklek kb okl Rk sklek kb okl Rk cklek kb okl sklk ckiok skl kb cklk cRiek ekl kb ckkk ckiek 100% ek ckkk 100%  kekk 100%  100%  100%  100%  100%  100%  ckdek  kelek ek okkk ckiok klok ek
VCM NoavA(oy sk ckkk sklok dekk okl ckkk skiok el okkk cklk skik skl skkk cklk skiok sl kkk ckkk skiok skl skkk skkk ckiok skl dkkk kkk ckiek 100%  100%  100%  100%  100%  100%  100% 100% 100% 100%  100%  ckwk  skkk ek skkk ckiok skkk ok
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